(

(BRETIE)
[ - - - - - ]
i (EEIVEEAR) o 1 S
| | 800 | Q
=
A N =3
I ] T ] I
S
(SREUsSE)
(tRIVEELE)
400 | 2800 | 400
3600
AR FEA HBR=1
EWREE (S=1/2%)
<FRZEUHTOBER>
wmnmxwmuxhzyou—raaz&&amNﬁm#ur)
HEEE J4m/s, WEBRERD I
1) ERMOBE. EREEZEEEL, TER
HBOETHEF L TTE N,
E2) ZTOMBMOEFBICHDLE TRIAL TFI W, 400 2800 700 1435
+ ® + ® =
& =
/ FL ih&w
% (=] | % (=] | . T T
o > ol © v 0] 120 || =
XK | SRS %Zsz SR 7 L L L L 160 IL-r6t
3| FHHRIRE 3lg 1y o
4 / X—2Fh / =]
WL L LWL L) 5-D13x5-D13 LA LN L LK
(e}
g \\Jiji g B 5 oo || 120 || 20\ 22 - 180w
800 800 L 160
1000 FIA-MRIVE 1000
' ' W1/2 x 3008 ' A e
B~ Bl & 2 EFME (S=1/1p)

A~ NE @

% AR IRaGERS YOKRE

(ZoA-TL-bAR)

P YOKRS—-280% (HEHA) <3/ 3>

yellil =t

<YOKRS—=280—-A1_3_JIS_GL.DXF>



